Chapter 4

Student’s Book

Practice Worksheet, pp. 64-65
2. True, False, True, False

3. (a) The Sun

(b) The bar for the grass should be taller than that for the grasshopper.

3. (a) Anyone:
plant = elephant = tiger
plant = deer = tiger
plant -*goat = fox - tiger
(b) Tiger

Activity book answers: Pages 39-40

Let’s Review, pp. 39-40

1. (a)
(b)

2. (a)
(b)
3. (a)

(b)

Frog and snake

Any one:

plant < grasshopper = frog = eagle

plant = grasshopper = snake = eagle

plant = grasshopper = frog = snake - eagle
plant - rabbit < eagle

plant = fly = bird = eagle

water plant = shrimp = fish = kingfisher

The Sun

Accept any correct answer for each group.

Producer Primary consumer Secondary consumer Tertiary consumer
cactus / squirrel / snake / hawk /
brittlebush kangaroo rat / collared lizard fox
ant
most likely least likely

A B c




